American University of Central Asia

1. A)8 B) 32 C) 46
24 —-8:2+6-2= D) 48 E) 52
2. Find 15% of 500 A) 89 B) 75 C) 65
15% of 500 paBHBI D)6 E) 48
3. B A) 50
B) 60
C) 70
Figure is not drawn to scale.
) D) 110
In the figure above BA = BC. If £B =40° then x =
E) 130
Ecmu Ha pucyske, nmpuseneHHoM Boitie, BA = BC u £B = 40°, to
X =
4. Find the arithmetic mean of the numbers =,=,%, -2 A) 2 B) - o)) =2
2’3’4" 3 6 16
Haiinure cpennee apupmMeTHuecKoe Incel 1,1, 1, _ D) 16 E) 3
2’3’4’ 3 3 8
5. If 2=2Y = 7 what is the value % ? A -2 B) — 2 0-1
x y 3 2
x=3y x 3
Ecnu =7,TO;= D)g E)Z
6. If vx = m, which is the following is true? A) x = m? B)x =vm
C)x?=m D) x? = m?
Ecimm +/x = m, 10 uto u3 MIPUBEAECHHOTO BEPHO? E) x*=m
7. If a, b, c are three consecutive even integers such a > b > c, then
(a=b)(b—c) _
a-c A)-3 B)—-1 01
Ecmu a, b, ¢ —-Tpu mociie1oBaTeNFHBIX YETHBIX YUCIIA, TAKHAE YTO, D)2 E) 4
a>bh>c,to &DCO_
a—c
8. 3 1 1
If2(x+5)=5(x—3)+ x,thenx—5= A)—SE B) -5 03
3 1 1
Ecinu 2(x+§)=5(x—3)+ X, TO x—§= D) 4 E)42
Ifx=3y=5then|-2x—y+3| = A1 B) 2 03
9.
Ecmx =3,y =510 |-2x —y+3| = D) 8 E) 10
10. 1,1 1_ - X
Ifc—x+yandx>y>0,thenc— A)x+y B)yx—y Ty
ECHI/IC=l+lI/Ix>y>0,T01= )m E)u
x y c xy xy
11 | 1f -1 <Z* <1, then what is the sum of the largest and smallest -1

integer solutions of the equation?

Ecmn —1 < 2t

< 1, T0 cymMmMa HanOOJBIIET0 M HANMEHBIIIETO

OCIbIX peIHCHI/Iﬁ HCPABCHCTBA paBHaA




12.

If 2c+3d =17 and 6c+5d =39 then4(c+d) =

Ecmu 2¢+3d =17 u 6c+5d =39, 104(c +d) =

28

13.

(—2x-5)?

5x2(3-x) <0

Find the least integer solution of the inequality

(—2x-5)2
5x2(3—x)

<0

HaiinuTe HauMeHbIIEe 1e10€ pCUICHUEC HEPABCHCTBA

14,

If in geometric sequence b, = 14, then by - by, =

Ecnu B reomerpuueckoit nmporpeccun b, = 14,70 by - by =

196

15.

An airplane flies against the wind stream from A to B in 8 hours. The
same airplane returns from B to A, in the same direction as the wind
stream, in 7 hours. Find the ratio of the speed of the airplane (in still
air) to the speed of the wind.

CamorieT mpoJieTel 0 HallpaBJICHUIO BeTpa U3 MyHKTa A B MyHKT b
3a 7 4acoB TaKoe e PacCcTOSHUE, Kakoe B 00paTHOM HarpaBieHUH
3a 8 yacoB (CKOPOCTh U HallpaBJIeHUE BeTpa He MeHstoTcs ). Haliute
OTHOIIIEHHE COOCTBEHHOI CKOPOCTH CaMoJieTa K CKOPOCTH BETPA.

16.

If 21-log27 = 3l083(6x) then x =

Ecnu 21710827 = 31083(6%) 1 x =

17.

e
A 4

_ Note: Figure not drawn to scale.

The circle above with center A has an area of 21. If |AC| = 24B,
and £ B =90°, then what is the area of the shaded region?

Ha pucynke Bbl1lIe, IUI0IIab Kpyra ¢ LEHTPOM B Touke A paBHa 21.
Ecmu |AC| = 2AB u £ B =90°, To mWiomans 3aKpalleHHOW YacTH

Kpyra paBHa

17,5

18.

47%  16-27%
If 1_6" =T then x =

4™ 16-27%
Ecnu W:T ,TO X =

19.

) 1 .
If sina-cosa = " then sin*a + cos*a =

. 1 )
Eciu sina - cosa = 2 10 sin*a + cos*a =

@3

20.

How many liters of pure water must be added to G liters of k % salt
solution to get m % salt solution?

CKOJIBKO JINTPOB YHCTOW BOABI HaJIO 100aBUTh K G JIUTpam
k % — ro constHOrO pacTBOpa, 4TOOHI MOAY4INTh M % — BIH
COJISTHOM pacTBOp?

G(k—m)




